Precalculus Chapter 9 Review
9.1-9.4










Name:


1. A security code consists of 3 digits (0-9 inclusive) and 1 letter.  How many security codes are possible?

2. There are 75 students in precalculus.  10 students are chosen to send to a math competition.  How many different groups of 10 students are there?

3. 8 women run a race.  How many first, second , and third place possibilities can occur?

4. Expand (3x – 4y)4 

5.  Find the coefficient of the x4y2 term in  (x  + y)6

6. Suppose there is a 60% chance you will wake up late tomorrow.  If you wake up late, there is a 90% chance you drink a cup of coffee.  If, you wake up on time, there is a 50% chance you drink a cup of coffee.  Find the probability that you WILL NOT, drink a cup of coffee tomorrow?  Draw a tree diagram to help. 

7.  Approximately 3% of the eggs in a store are cracked. If you buy two dozen eggs, what is the probability that
a) none of your eggs are cracked

b) at least one of your eggs is cracked

c) exactly two of your eggs are cracked

8.  12 quarters dated 1989-2000 are tossed.  Find the probability that:

a.) You get 5 heads.

b.) Atleast 2 heads?

9.  Is the following a probability function?

	Outcome
	Probality

	Red
	.48

	Blue
	.10

	Green
	.25

	Yellow 
	.17


Answers.
1.) 26,000

2.) 75C10 =  8.28 X 10 ^11

3.) 8 P 3 =  336

4.) 
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5.) 6 C 4 = 15

6.) .26
7.) A.) .4814
b.) .519

c.).127
8.) A.) .193359375  B.) .996826179

9.) 8.) yes, since the entire function has a sum of 1 
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